TERMINATION AND DIMENSION
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No tools are required when fitting a unit to a DIN rail. The moulded lugs at the base are simply hooked over
one edge of the rail and, when the unit is pressed firmly home, it will latch into place and be securely retained
by a spring-loaded clip. A screwdriver should be used when removing the unit from a rail. It should be used to
ease back the clip, allowing the unit to be unhooked from the rail.

Ideally perpendicular but can be any position with good ventilation. For perpendicular orientation a space of
5mm between every five units (or between every two units if mounted in any other orientation) will minimise
temperature rise within that group of instruments.
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